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1 . What are not included as a tissue system in plants?
(A) Dermal tissue

(B) Vascular tissue

(C) Ground tissue

(D) Cortex tissue

2 . What are not the major functions of vasculature?
(A) Water transportation

(B) Structural support

(C) Carbon assimilation

(D) Cell division and differentiation

3 . The characteristics of plant primary growth and secondary growth are?

(A) Primary growth provides plant vertical elongation and secondary provides plant horizontal elongation.
(B) Plants do not have simultaneous primary and secondary growth. ,

(C) Primary growth exhibits circular cambium and secondary growth does not.

(D) Both primary and secondary growth are contributed by shoot apical meristem.

4. The partial negative and positive charges generate a strong mutual attraction between adjacent water molecules,
which is called:

(A) Molecule-molecule interaction

(B) Hydrogen bonding

(C) Van der Waals force

(D)} Cohesion force

5 . What is not the major factors affecting the efficiency of transpiration?
(A) Root pressure

(B) Light absorption

(C) Cohension theory

(D) Capillarity effect

6 . Which ion regulate the mechanism for stomatal opening?
(A) Potassium

(B) Calcium

(C) Magnesium

(D) Chioride

7 . What is the definition of leaf index area?
(A) The plant area covered by ground

(B) The ground area covered by plants

(C) The space area covered by plants

(D) The plant area covered by space

8 . Where does casparian strip locate?
(A) Stele

(B) Root hair

(C) Endodermis

(D) Epidermis -

9 . What includes tracheids and vessel elements. They are the most highly specialized of the xylem cells and are
the principal water-conducting cells.

(A) Libriform fibers

(B) Ray parenchyma cells

(C) Treachery elements

(D) Fusiform cambium

10 . What phyllotaxy below indicates two leaves on one node?
(A) Alternate

(B) Spiral

(C) Opposite

(D) Whorled
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11 : Plants exert which mechanism to prevent too high leaf area index.
(A) Flowering '
(B) Withering

(C) Self-pruning

(D) Dormancy

12 . What is not the major cell type in leaves?
(A) Palisade mesophyll cells

(B) Spongy mesophyl! cells

(C) Epidermal cells

(D} Companion cells

13 . Mycorrhizae are a form of , are observed in more than 80% of the plants studied.
{(A) Parasitism

(B) Mutualism

(C) Commensalism

(D) All options are incorrect

14 . What is not the type of short-distance transportation in plants?
(A) Simple diffusion

(B) Facilitated diffusion

(C) Active transportation

(D) Bulk flow

15 . The process happened mainly in leaves for plants to lose water into the atmosphere is called?
(A) Carboxylation

{B) Transpiration

(C) Photosynthesis

(D) Respiration

16 - What counts for the most volume in leaves?
(A) Substomatal space

(B) Vein

(C) Cuticle

(D) Stoma

17 . What is the shape of guard cells in monocots?
(A) Dumbbell

(B) Kidney

(C) Donut

(D) Star

18 . What is the major factor for the guard cell to create a space as stoma?
(A) Rich irrigation :

(B) Continuous dark

(C) Continuous light

(D) Uneven thickness of cell wall

19 . The maximum tension that an uninterrupted column of any material can withstand without breaking is called:
(A) Tensile strength

(B) Continuous lane

(C) Continuous part

(D) Uneven thickness break

20 . Particles that are small enough to remain in suspension but too large to go into true solution

- (A) Clay

(B) Colloids
(C) Silt
(D) All options are incorrect

21 . What is the correct sequence in photosynthetic carbon reduction cycle?
(A) Carboxylation - Reduction - Regeneration
(B) Carboxylation - Regeneration - Reduction
(C) Regeneration - Carboxylation - Reduction
(D) Regeneration — Reduction - Carboxylation
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22 . What is not involved in the flow of electron transportation among PSII, cytochrome complex, and PSI during
photosynthesis?

(A) QA passes the electrons to plastoquinone (P680+ Pheo QA)

(B) Pheo- passes the electrons to Qa (P680+ Pheo QA-)

(C) Electrons finally end up into ATP

(D) Arrival of excitation energy at PSII reaction center P680

23 . What is not a part of root?
(A) Pericycle

(B) Endodermis

(C) Shoot apical meristem

(D) Stele

24 . What presents a barrier to the movement of water through the apoplastic space to the endodermis?
(A) Xylem

(B) Casparian band

(C) Ray parenchyma cells

(D) Vessel elements

25 . What is a special case of diffusion involving the movement of water across a selectively-permeable membrane?
(A) Osmosis

(B) Transporter translocation

(C) Ion leakage

(D) All options are incorrect
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describe how photosynthesis, respiration and nitrogen metabolism contribute to achieve an intricate balance
in plant metabolism.
27. Hph o0 T 45 3L 36 eI ABA- B AU Sk A A R R AR B AR AR 2 ER: (1) 3
WAL QMU ERE » QMR N2 NS ENG DX EAAZBELEE

28. 33 b b 048 4 18 3845 3 5 5k ¥ 35 (dynamic photoinhition) 82 & 8 & % 3% 3% (chronic photoinhition)&%

BB Z A o A AT -

29. (1)3 & £ 444 2 B4k (acclimation) #2 18 J& (adpation) » (2)3% S 471 30,59 3f bb 048 4% $1IE 18 36 35 2 B AL g
W JE o

30. (135 A M S R JE 31.°A B 3R &.4% % 8512 (signaling transduction pathway)z B4 5 58 » ()7 & £
RGP AR EANE S HEBERXAZRF -

HARANE






